R —F(KZEFRA FEESHKR)
KX FHRAEOBHIEAEERT BRICTHALIEN,

EE 32

BETES

BE3IE T

Q= R

(300X F) 14735X°F X 81T+ 117203 °F X 14T
10 20 30 FH
& 35
70
-3 105
140
W 175
" 210
245
= 280
300
a 10 20 FH
* @é%ﬁ 1. HY ( ZERENRORNS: BREE - BEFHRE) 2 HLEER) 3. 20fth
. =H) 10 20 X
B | eEnEc 30
P B9 2458
EIH(603CF) 60
10 20 X
30
BE#E (90XF) 60
90
30
WEER-EE 60
(903=F)
90
[ E&-Fu, $EEE ]
HY10HE 10 20 30 FH
® | Exmit 40
Al
LS
S (130)‘@) 80
£ Iﬁ;g%@ 120
[51] ERAFBOFRICHNDHLLT. @BRHADEMNFLELTOOMAELR. OEMEEIIEMNFBIITOVTHOEEESTBMTIR
%ﬁ B6WMEICHITHHIEEIE (HYIDHFEE=>THFRTEE-HMEI(60XF) FH
il 30
{8 1 L
5 b Y 6

[H1] AALERRGERE FEVEERELLTI7AAABBET. —EVVRRETES

wB%E
(1003 )

10

20

25

50

75

100




R —F(KZEFRA FEESHKR)
KX FHRAEOBHIEAEERT BRICTHALIEN,

[ B E A & ]
I BEISAT (90X F) 10 20 =
e . - 30
c EESM
= 60
5 90
10 20 FH
30
60
#h 90
B 120
300X °F 150
= 180
i | 210
240
270
300
10 20 FH
K 30
A 60
ﬁ 90
Iz 120
2: 300X F 150
) 180
fe’f 210
% 240
" 270
300
[ ELEREARER )

BEgEHORERUR LICET 2IHE 0 EMHEK RN
HEDANR 10 20 30 FH
M| 63XF 32
63
HOEEXIIEOAR 10 20 30 T
@| 603XF 30
60
FRYTALHILTOTHEORE 10 20 30 T
@| 60XF 30
60
HNREFHTEDOHAR 10 20 30 T
)| 603F 30
60

2023.2. 12 EThix



